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How to use this booklet
This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments. 

Example Candidate Response – low Examiner comments
1  There are also some irrelevant 

points that have been added to the 
response.

Mark for content: relevance 
and development of ideas  
(Table A) = 3 out of 10

How the candidate could improve the answer
	• Candidate could improve the response, as they could have added some more detailed ideas at an appropriate 

length.
	• Candidate could achieve higher marks if they had more control on the spelling and grammar usage.

Common mistakes and guidance 
	• Most candidates struggled with understanding the actual requirements of the question they were asked. It is 

important for candidates to prepare for and practice exam style questions.
	• Candidates tended to focus on rephrasing or restating the prompts instead of addressing what was being asked 

and answering the question correctly. 
	• To achieve full marks, candidates need to develop their ideas/points in detail with a variety of examples.

Examiner comments explain 
where and why marks were 
awarded. These help to interpret 
the standard of Cambridge 
exams to help learners refine 
their exam technique.

This section explains how the candidate could improve 
each response. It helps learners to improve their exam 
technique.

This section lists common mistakes as well as helpful guidance 
from the examiner. This will help your learners to avoid these 
mistakes. You can use this alongside the relevant Examiner 
Report to guide your learners.

1Responses are written by real candidates in exam 
conditions, demonstrating the types of answers for each 
level. These could be used to discuss and analyse the 
answers with learners in the classroom to improve their 
skills.
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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Second Language Urdu.

This booklet contains responses to all questions from June 2024 Paper 2 Grammar, Writing and Translation. 

Exercises 1 and 2 responses have been written by a Cambridge examiner to demonstrate the correct answers and 
are accompanied by examiner comments highlighting common errors and misconceptions where they are relevant. 

For Exercises 3 and 4 we have selected candidate responses to show how different levels of candidates’ performance 
(high, middle and low) relate to the syllabus requirements. This document helps teachers to assess the standards 
required to achieve marks beyond the guidance of the mark scheme.

The questions and mark schemes are available on the School Support Hub

3248 June 2024 Question Paper 02

3248 June 2024 Mark Scheme 02

Past exam resources and other teaching and learning resources are available on the School Support Hub

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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Exercise 1

Example response

Question Answer

Question 1

Question 2

Question 3

Question 4

Question 5

Examiner comment
In this exercise, candidates had to read five short sentences and transform them using the given prompts without 
changing their original meaning. Most of the candidates performed well and were able to achieve full marks. Some 
candidates used synonyms of the words to complete the sentences and also scored marks.

Common mistakes and guidance 
Some candidates had difficulties with the spelling and the grammar and made some mistakes when attempting the 
answer, which impacted the meaning of the second sentences and therefore marks could not be given. 

For Question 1, a few candidates used the words 
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Exercise 1 
Example response  

Question  Answer 

Question 1  � � �� ا رراابب    �با� ��ن
نن

 �� �۔ � ��  

Question 2  ��ر ۔� � �  � دس �ل �  آآ��� � ��ب  

Question 3 ۔ ��  ����ںں  ��  �   � اس � ا�ن  

Question 4   � �۔� ����      اس �ر�� � � � � ا�ى  

Question 5  � � ا ۔۔        ��  ��  مم    ��  ����  ��  �� �ن  

Examiner comment: 
In this exercise, candidates had to read five short sentences and transform them using the given prompts 
without changing their original meaning. Most of the candidates performed well and were able to achieve full 
marks. Some candidates used synonyms of the words to complete the sentences and also scored marks. 

 
Common mistakes and guidance  
Some candidates had difficulties with the spelling and the grammar and made some mistakes when 
attempting the answer, which impacted the meaning of the second sentences and therefore marks could not 
be given.  

For question 1, a few candidates used the words  ر�و/� which does not convey the correct meanings of the 
first sentence. 

In questions 3 and 4, many candidates made spellings and grammatical mistakes, e.g., �� /ں�� which 
changed the meaning given in the first sentence of each question, and candidates were not able to achieve 
marks.   

In this exercise, candidates should be extra careful when they complete the second sentence, to make sure 
that it does not change the original meaning of the first sentence. 

  

 which does not convey the correct meanings of the first 
sentence.

In Questions 3 and 4, many candidates made spellings and grammatical mistakes, e.g. 
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Exercise 2

Example response

Question Answer

Question 6 D

Question 7 B

Question 8 A

Question 9 C

Question 10 D

Question 11 C

Question 12 A

Question 13 B

Question 14 C

Question 15 D

Examiner comment
In this exercise, candidates were required to read the short passage carefully and select the appropriate word from the 
option of four words to fill in the gaps in the text. This exercise tests candidates’ ability to apply grammatical usage in a 
context. 

The majority of the candidates demonstrated a good understanding of the text and selected the correct response/
option from the given multiple-choice options.

Common mistakes and guidance 
Questions 10,12 and 14 have been identified as the most challenging questions in this exercise. Some candidates 
selected the wrong option from the options given, which were working as distractors, and therefore were not able to 
get these marks.

A common mistake made by some candidates was to put the tick in more than one box which could not be accepted 
and resulted in candidates scoring no marks.  However, if a candidate put ticks in two boxes and crossed out the 
incorrect option, the mark was awarded. Candidates need to practise how to respond to multiple-choice questions so 
that these errors can be avoided.
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A common mistake made by some candidates was to put the tick in more than one box which could not be 
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multiple-choice questions so that these errors can be avoided. 
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multiple-choice questions so that these errors can be avoided. 

  



Example Candidate Responses – Paper 2

8

Exercise 3

Question 16

Example Candidate Response – high Examiner comments
1  Ideas and points are effectively 

developed at the appropriate length.

   

2  The candidate consistently uses 
a range of language with complex 
structures. 

1

2
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Example Candidate Response – high, continued Examiner comments
3  The response is effectively 

organised.

4  The candidate uses well-
constructed and linked paragraphs.

Mark for Content: relevance  
and development of ideas  
(Table A) = 9 out of 10

Mark for Language: style and 
accuracy (Table B) = 10 out of 10

Total mark awarded = 19 out of 20

How the candidate could improve the answer
The candidate could improve the response by adding some more examples of the activities, e.g. museums, local 
festivals or hiking, etc. 

3

4
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Example Candidate Response – middle Examiner comments
1  The candidate responds 

reasonably well with some relevant 
points.  

1
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Example Candidate Response – middle, continued Examiner comments
2  Ideas are satisfactorily 

developed and at appropriate length.

3  The candidate uses language 
reasonably well and confidently.

4  There is some repetitive 
language with the usage of some 
English words.

5  The response is accurate with a 
good degree of control.

 

Mark for Content: relevance  
and development of ideas  
(Table A) = 5 out of 10

Mark for Language: style and 
accuracy (Table B) = 7 out of 10

Total mark awarded = 12 out of 20

How the candidate could improve the answer
	• The candidate could improve the response if they developed their ideas in more detail and at appropriate length.
	• The candidate should use more complex language with well-constructed paragraphs to gain more marks. 

2

3

4

5
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Example Candidate Response – low Examiner comments
1  There are also some irrelevant 

points that have been added to the 
response.

1
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Example Candidate Response – low, continued Examiner comments
2  There are some relevant points 

which have been demonstrated at 
appropriate length 

3  Spellings and grammatical 
errors occur when attempting more 
ambitious language.

Mark for Content: relevance 
and development of ideas  
(Table A) = 3 out of 10

Mark for Language: style and 
accuracy (Table B) = 3 out of 10

Total mark awarded = 6 out of 20

How the candidate could improve the answer
	• The candidate could improve the response, as they could have added some more detailed ideas at an appropriate 

length.
	• The candidate could achieve higher marks if they had more control on the spelling and grammar usage.

Common mistakes and guidance 
	• Most candidates struggled with understanding the actual requirements of the question they were asked. It is 

important for candidates to prepare for and practice exam style questions.
	• Candidates tended to focus on rephrasing or restating the prompts instead of addressing what was being asked 

and answering the question correctly. 
	• To achieve full marks, candidates need to develop their ideas/points in detail with a variety of examples.
	• Candidates may write the response in favour, against or approaching both sides of the statement. Candidates need 

to give their conclusive opinion to achieve full marks.

2

3

3
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Exercise 4

Question 17 Translation

Example Candidate Response – high Examiner comments
1  Most of the key points are 

communicated clearly by this 
candidate. 

2  Complex sentences structures 
are used successfully with the 
current meaning.

3  A high level of accurate language 
is used with very few minor errors.

 
 

Mark for communicating key points 
(Table C) = 4 out of 5

Mark for applying linguistic 
knowledge and accuracy  
(Table D) = 10 out of 10

Total mark awarded = 14 out of 15

How the candidate could improve the answer
	• The candidate made a few mistakes in translating from English into Urdu.
	• The candidate could have achieved full marks in the content if they had avoided making mistakes in translating a 

few words from English into Urdu

1

2

3



Example Candidate Responses – Paper 2

15

Example Candidate Response – middle Examiner comments
1  More than half of the points in 

the passage have been successfully 
translated in the target language.

2  There was an attempt to 
use appropriate vocabulary and 
grammatical structures, although it 
was not always successful.

3  The language was fairly accurate 
with some minor errors in translating 
the key points into the target 
language.

Mark for communicating key points 
(Table C) = 4 out of 5

Mark for applying linguistic 
knowledge and accuracy  
(Table D) = 6 out of 10

Total mark awarded = 10 out of 15

3

1

2
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How the candidate could improve the answer
	• The candidate could improve this response by avoiding mistakes in translating the key points into the target 

language. 
	• The candidate should use highly accurate language and sentence structure to achieve better marks.
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Example Candidate Response – low Examiner comments
1  In all three paragraphs the 

candidate attempts to communicate 
the key points, but the meaning is 
not always clear.

2  The candidate makes frequent 
basic errors in the language in all 
three paragraphs, which impede 
communication.

 
Mark for communicating key points 
(Table C) = 2 out of 5

Mark for applying linguistic 
knowledge and accuracy 
(Table D) = 2 out of 10

Total mark awarded = 4 out of 15

How the candidate could improve the answer
	• To improve the response, the candidate could have translated all key points clearly.
	• The candidate should avoid basic spelling mistakes and grammatical errors which impede the communication.

Common mistakes and guidance 
	• Some candidates translated the key points incorrectly or missed translating the key points into the target language.
	• To improve performance in this question, candidates should read the passage carefully, underline the key points 

and translate each point clearly into the target language.
	• Candidates should avoid transliterating or missing key points to translate into the target language to avoid losing 

marks.

1

1

1

2

2

2
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